Home work F T Awswer \ie.\/

%

sty s ) (5m 75 )- (o) sl

i

(Sec Hﬂ) t

. \
o y'= oo S sec o~

. (ﬁxx* sinx)

il Wﬂ: y 5(S'W\U,JCW{- cos(2t) 2 - s\v\SLch)- (2t)
Vv | Sl Csm(3R)3 — cos(m)cos(Hx)- 4
5. %m— s

\
- | . e
o 4= —sinlsie (75 3o () s =) <ﬁ\ \Zm o :

N
£+

o

. OB\LX\: (oS ‘XH Serx _ki L\(l\— 5€_CX) /7‘- (?—x —\—secx-‘\’an}

q. 5\1\ ()=— kjmw Wx + msx))fl' Sec” L\G('\' oosx\ : (;\J:x "S"V‘x>

. tﬁ\@:@

\. \(\\ —‘/Dz@ a

o FE-C5R)

nd \’\\kj%‘\:‘\‘\




|5.

1.

\2.

\A.

20-

Ay | _SeexFaux — Y cos (xy)
d¥ X oS LX\j} + |

: 07
AV\SWW /\\/\L VAWneysS ave V‘/\ﬁ\/ll/\g 52—5 \/\aro\s pev seéchvo

ox  Xhot wio ment

slk)= i% Cces k4 3=\ | Dot

£ )= tanx — {5 cosx - lei
z

3/7,
—ﬁ—x y Ix +C

5, "/L__%_ X"z/z C
>

| \S =1 \S
RGN J{x —3x ¢ +T"S_x4 —Y49 X 7—,6_;_X By
\

R




